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University of Louisville Chem 201 Exam 3 Dr. hoyt Fall 2013
_ Scored grade (instructor use only!) , I
Q ) I. The following equation is balanced: (nrs)
2Ag,0(s) = 4Ag(s) + O,(g) AH® = 62.10 kJ

. [2 pts] What is the correct systematic name of Ag,0? _ &\ ( Vex oXi J—Q_

. [2] Is the reaction above exothermic or endothermic? QJAAO "'l‘L(MMiL (A"‘( i§ 1{2“‘""‘"”)

=

o
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q . [2] Which element is reduced in the reaction above? Aﬁo ( Af{if — Afc )

. d. [3] What is the AH° value for the reaction below? oHrur vaurgicn : ‘(«Ab(_g—ﬂ- 0, (”63 - aAﬁ,,p A=~ 61
double of albove o) (covecseofabove)
4AZO () - 8Ag(®s) + 20, (e) A =H24.20

e. [10] In the box below, write the formation equation (the reaction corresponding to the AH’) for Ag,0 (s), and
give the value of the AH®. For full credit, include appropriate phase labels on all species.

N
& a4 reverse and 4 o rem prov i aloves
L A% () t Q,O‘L(_%B“'% A%vo(g\) AHP = -31,05 kJ
)

@

@ 2. [2 each] Three identical 5-L flasks each contain a sample of gas (He, Ne or Ar) at 273 K and | atm. For each
of the following quantities or values, circle the best choice.

a. greatest density: He Ne all same

0 b. greatest average kinetic energy: He Ne Ar
{
c. greatest rate of effusion through a valve: Ne Ar all same

d. greatest average speed of atoms: Ne Ar all same
e. greatest number of atoms: He Ne Ar

o.Q4to [ [P0.0L00
3. [6] **41.0 mL of a solution of 0.237 M Pb(NO,), are added to 60.0 mL of a solution of 0.250 M NH,CIl. How

many grams of precipitate can be prod d YOUR WORK in the area below and write your answer in
the space provided. (Molar mass of PbCl, = 278.1, H,NO, = 80.05)
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4. [6] **A 154 L container holds a gas at 3/8 °C and 2. 19 atm. The gas is transferred to a new container of 25 6L

and the new temperature is 87.°C. What is the new pressure (in atm) of the gas? SHOW YOUR WORK in the :

area below and write your anske'r, rounded appropriately, in the space provided. = C
3(‘90K: 1’ l 3 O 2—-— atm

RV TR O TS 14 adm Y15, L3000 E)
l /l—:’ ‘/2' y T,\/z, = 31”43(7,5(9[)
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5. {4] **What is the energy (in J) of the n = 2 level of 0’*? SHOW YOUR WORK in the area below and write
your answer in the space provided. \”\
- 3,49 ¥
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6. [2 each] Clearly assign each statement as TRUE or FALSE. If we can’t tell which you mean, it’s wrong.

Lrue . We are being bombarded with electromagnetic radiation right now, from the lights in this room.

% 2 False A photon of red light has a g:ea{erfrequency than a photon of blue light. %vu}z«- ?L) gmalloe V (

_ itHe
l"a,ogb Humans can see mos%of the electromagnetic spectrum.

F OQ% Electrons in atoms can orbit at any distance and can have any energy. EW%EW(QS are %*""} 'uzé
_ Z
E=-218x107" J(—J

2

F:QQ% The equation to the right can be used to calculate the energy of any "

electron in an atom. swly, si ns(cv < Y33
q)’], T[],L % When an electron in an atom relaxes from n=3 to n=2, a photon is emitted.

Qﬁ% If the temperature of a gas sample rises from 20°C to 40°C, the average kinetic energy of the molecules
Gl Db qwg,mms oot 7% brazke G3izic
te

At a given temperature, all the molec:&es in a sample of gas have the same kinetic energy.
swo«m&a&, %?U.AS ond uul-ic%wréb velueS
F&«QQ&/ All diatomic elements are gases under standard conditions.

- 2L O (o ()
tﬂ SC At the same pressure temperature and volume, all ideal gas samples have the same average molecular

F@«Q velocity. Saums Ty Samae K, but Pha %pcuis vg caples &@QMA o WMass
% Gases behave most ideally at%pressures and high temperatures

MS(/ At STP, one mole of apy-substanee will occupy a volume of 22.4 L. W%W“«S ée’r %&9&5‘ S“J“W""%

TY wae Breaking bonds is always an endothermic process. ‘\’U’Q%/

@ r, < Combustion of any substance will yield CO, and H,O as products. 61«% 5() C % (" in rwﬁ(’m ( ;
TFW For an element in its stable state, AH;" =0 and oxidation number = 0.

F'—GvQSC/ When the temperature of a sample of gas increases, its density decreases. FD‘L ‘O (A ) but Vs
Cf‘hgi'aw\r)'b 's cons bant’,



